
 

Given fix Y
True or False f SAT f 9 n f t for STEY

Yet x Ef SMT then f x SAT
Their f R E S and f a ET

That means Kef 9 and RE f T
Therefore XE f s of t

I Yet ICE f s of T
since all the steps for the E inclusionwere reversible then scef SAT

If f is a decreasing femtion and g is a

decreasing function there is gofalsodecreasing
NO

Interesting because we are interested in making
only a minum number of assumptions as axiours
from which to develop the rest ofCalculus
IN well ordered is equivalent to sayingthat
induction can be used to prove pen for all MEN




